[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

30

[} I’J
8 q
o =
£ g
2 £
4 [%)
Q j=
E o
= 3
@
o 2o
I I
@ @
1 -H
0%5-20-15-10 -5 0 5 10 15 20 25 0 E=56-15-10 -5 0 5 10 15 20 2
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_CKF_TT_base_noSel
—e— DQM_CKF_TT_retrainOldFiles113_noSel
I N of sim| =—— DQM_CKF_TT_retrainOldFiles125_v2_noSel
1] 1J
Q@ o
© F
§ 10 3
2 2
= 1%}
[5] c
< 3
F e ¢
10
1
o MR e -
2 Bl A BAA A ‘ 2
o """"’1""""‘:""""‘:"""‘m"""‘:""H”L”H”HLH”H” 1 o
D el R E
09571-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 1 091080604020 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
o F : a
s : =
o e R e 8
e - ]
8 10%F----eeee LEREEN [AEEEEE-EREES LEREES S
= F : o
o o
° 1 ; *
g : : :
ox : : :
0% =20 -0 0 10 20 30 0%3p =20 10 0 10 20
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
° a
e} =
E
2 !
x [%]
Q c
I S
= 3
@

Ratio




	Contents
	Page 1


